Pythagorean Formula
If ¢ is the length of the longest side of a right triangle and a and b are the lengths
of the shorter sides, then

Hypaotenuse

ct=a® + b i
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The longest side 15 the hypotenuse, and the two shorter sides are the legs, of
the triangle. The hypotenuse is the side opposite the right angle.

CONNECTIONS

The Pvthagorean formula is undoubtedly one of the most widely used and oldest
formulas we have. It is very important in trigonometry, which is used in survey-
ing. drafting, engineering. navigation, and many other fields. There is evidence
that the Babylonians knew the concept guite well. Although atributed to
Pythagoras, it was known to every surveyor from Egypt to China for a thousand
years before Pythagoras.

In the 1939 movie The Wizard of Oz, the Scarecrow asks the Wizard for
a brain. When the Wizard presents him with a diploma granting him a Th.D.
(Doctor of Thinkology), the Scarecrow recites the following:

The sum of the square roots of any two sides of an isosceles riangle
is equal fo the square root of the remaining side. . . . Oh jov! Rapture!
I've got a brain.

For Discussion

Did the Scarecrow recite the Pythagorean formula’ (An isosceles triangle is a tri-
angle with two equal sides.) Is his statement true? Explain.



